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o= 31,400,000 30,400,000 1,000,000
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9,774 9,774 0
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CfLs | OH = AFAF = o
X = 32,321,630 31,321,630 1,000,000
Rl ul = Al 17,843,119 18,013,927 A170,808
SEIET 5,455,822 5,524,850 269,028
ket 12,387,297 12,489,077 2101,780
CRIEL o 121,077 121,077 0
ollgl gl 121,077 121,077 0
REAHS Al 13,022,444 12,214,996 807,448
A2 20,000 20,000 0
—EE 12,224,978 11,363,000 861,978
IHAHEX 691,696 736,696 245,000
BJ| 7B 85,770 95,300 29,530
DIEHRHE X X B yl 1,569 0 1,569
L =T 1,569 0 1,569
I ! 411,791 50,000 361,791
ollgl gl 411,791 50,000 361,791
nEELETT b 921,630 921,630 0
MLIOOIE = 87,077 87,077 0
AR08 3 834,552 834,552 0




